SPTA

N5 Homework aalas
Show all working — NO Calculator required.
Marks
. Expand and simplify: (2x — 3)(2x? + 5x — 6) (3)
. Calculate the gradient of the line joining each pair of points:
a) ABB,-2)&B(-5,2) (b) C(-4,-2)&D(5,4)
c) Which of the 2 lines, AB or CD, slopes UP from left to right? (5)
. Solve each of the following for x:
3(x —5) + X < 6x+ 1 p 222 6
8) 3(x-5)+x<6x b) /——3=< (6)
: : m-2
. Change the subject of the followingtom: P = - (3)
. Kerry buys a new dress in the sales. It had 20% off and cost £96.
What was the full price of the dress before the sale? (3)

Total Marks: 20




